XDTM
et HANSAVFLEX

| §:3 s =T
#01 KSR, AT g - w L,
ERRR 1 @HELHF | _—
BO2+3  XHNBEERE = .
BHER2+3 24 S 3,
STTT
P e B RIRRIERE TR |94 = 1
gERKR T N Y
1793 1ISO 8434-1 ! | G :
Y. | BEFHHRRBNERF) g
[T e -
RERP AR
t Y
BRERE, A, ENARNATN TERENHERESHERISERHEAEL.
#* &
SHRN THENE 0d2 G
(mm)
XDTMNWO04HL L PN 160 6 M10x1 14,0 8 24 12 12,0 19 19 6 6
XDTMNWO6 HL L PN 160 8 M12x1.5 17,0 12 27 14 13,0 20 22 6 6
XDTMNWOSBHL L PN 100 10 M14x1.5 19,0 12 30 15 15,0 22 22 8 8
XDTMNW10HL L PN 100 12 M16x 1.5 21,0 12 36 18 17,5 24 27 10 10
XDTM NW 13 HL L PN 100 15 M18x 1.5 23,0 12 39 19 20,0 27 30 12 12
XDTMNW 16 HL L PN 100 18 M22x1.5 27,0 14 41 20 20,5 28 32 14 14
XDTM NW20HL L PN 100 22 M26x 1.5 31,0 16 46 22 24,5 32 36 17 17
XDTM NW 25 HL L PN 100 28 M33x2 39,0 18 58 29 29,5 37 46 22 22
XDTM NW32HL L PN 63 35 M42 x 2 49,0 20 69 33 33,0 44 55 27 27
XDTM NW40HL L PN 63 42 M 48 x 2 55,0 22 84 41 40,0 51 70 32 32
XDTM NWO3HS S PN 160 6 M12x1.5 17,0 12 27 14 15,0 22 22 6 6
XDTM NWO04 HS S PN 160 8 M14x1.5 19,0 12 30 15 16,0 23 22 8 8
XDTM NWO6HS S PN 100 10 M16x 1.5 21,0 12 36 18 18,0 25 27 10 10
XDTM NWO0O8HS S PN 100 12 M18x 1.5 23,0 12 39 19 26,0 27 30 12 12
XDTM NW10HS S PN 100 14 M20x 1.5 25,0 14 41 20 22,0 30 32 12 12
XDTM NW 13 HS S PN 100 16 M22x1.5 27,0 14 45 22 23,5 32 36 14 14
XDTM NW 16 HS S PN 100 20 M 27 x 2 32,0 16 58 28 28,5 39 46 17 17
XDTM NW20HS S PN 100 25 M33x2 39,0 18 62 31 31,0 43 50 22 22
XDTM NW25HS S PN 63 30 M42x2 49,0 20 74 36 36,5 50 60 27 27
XDTM NW32HS S PN 63 38 M 48 x 2 55,0 22 84 41 41,0 57 70 32 32

ZHRRFLLL=FER =B S=E - PN=FEEN PB=RAIFEN - 0d2=EHER

FREE
XDTM VA E#RIBE5ER TH R, TH, BETHHERS MDA
DTM Bl IR E B TR, TH, S8R R D RN EE

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



